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QIMBIGHMTEH  AMWUMETSSHIND 2 OTHEUMTHSID  merss GLmdlserflswlbd
LiFeuGeuevor(hLD.

III. BLOWGILLID 6TELEVITID 2 6TEMGl 6TedoTm LML &L gl LUTFenalenll RWISS 186Tm
LTIenelenWs SHeld QumilQuuiLiL.

AL I bl &ifl B) II, III 0L_(h\d &f]

C) I, 11, Il 9jemeors I Fifl D) III inl_(Q\Ld &if]

71. “e@@m QMPOUIeL 2 eorIssLILULLMS Caumm@m 6wrWluiley Qeueflull®Heug
QUMPQUWITLIL” 6TedT ST .

A) LDEOOTE0I6U (LPEVGLIIT B) (0.&. L&BHTSHT

C) UFSIDTM H6m6VEH T D) 2_.Gau.5miBITsEF

72. ‘@@ QMY QUeTELMAD 2 V&HESHILET 2. Me] Q&meTemad QmBQLIWITLIL
@ 6T STGWD; 26086 BI&FH aeTifFFRHGWL QummeTluusy GLIMLIYMEGLD
QULMEIQUWTLILILD 6@H SHITT600TLOMEGLD” 6T60THMITY .

A) LDEOOTE06U (LPEVGLIIT B) (0.&. L&BHISHT

C) UFHIDTMH Hem6EVEHT D) 2_.Geu.5miBTEF

73.5 01D BT QLEUEIOTH S TLILIG LD BN & TEI LD 6TH& LImeoor U9l 6L
MG HLILL (H6ITemEI?

A) @BS U-@ eveurrLdlul B) @B W-LMTTFEs
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C) @bHu-CrmLiLiw D) Q&GS T-FmyFenfl&

74.67_(HHQSHTMNSH BHIusefley QUTBHSTES etenm Qe QFUIS (&M LMD
LHMIWSev)

A) USHOILILISS) B) LIMBGTERMM)

C) uflumLev D) GMIHO & Tet &

75. 6THIG HOLES SHVQRILOLTF QFaTemneruisd el SHHaUMMIET LILPEmLOWIT6oT
FHVGIGUL_(H 6T60T S MEVITLD?

A) LIL6VITEUITLD B) ullev i,y

C) Fa(haumehG& D) LJLp6V

76.5Dm: U&HFCFHGHEGHE SHLILISEHET6 aU(hems 1745 6L HenLLIL L &I.

SMyeoorld: @BIGMTHH MG FTerss@Gn @enlCuwl GUITT  eLetoTL&MeV  &LILI6Y
6600l & LD S LILL G,

A) FaMMl &TFeoord @ revor(d &Fifl

B) FamM &Fifl &TF6eooTD H6um

C) oMMl &TFeoord @ Tevor(HD &ifl Qyeormev Fiflulmeor alemd & ne6Ve6v.

D) oMM &TJeoord @ Teoor(hLD &eumi

77.&QWD, SHTOUTEHSD CUTETm LUGHG6flev GUMmAsmeTaTlILL L &MUl
Lieool] LILGHUNeT n6efls BIe&FHSFH6 LNl 615560607  24,600T(H & 6H &S
WMHLL LGl 6T6TMI S MIGMSI?

A) 2 @6VLELD B) 1 @6VL&LD

C) sugmuilyid D) 10 @6eVL_&LD

(0)tnpschooks
78.50MMI&HM6T LTMTUISH

1. UedTet|(p HHLPEMMEETlIeL (LNGH6L eLNETMI HIHLNENMSHET & (HEHTEOTE DB LML
LIML6V& 61607 Q&MELILE6T.
2. @eurfledt LIML6L&H6T @6n&FLILITL6V&H6TMEHG6 &8 LG 60TMe6oT.

3. HHUMEMET QSTGHSSIT HLOLIWmeoormF BLOLI.

4., FUPRSTWSH T QUITHEMTTHTT, SHemev, LieorLML(H BlemevseT, SWES @ mHS
2 WFBlemev, @& 536D FLouldh CHMLLMHE6T 3emeTH D FINUBST LITL6V56rT6V
gl &L & &eormeoT.

A) 1, 2 &ifl B) 2, 4 &ifl

C) 1, 2, 3 &ifl D) 9emeTSH SN Fifl
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79.Q & 6016011 HH UITe 60T Hletpe eumuilev 6T6dTml S eMLP&GLILGID BTN 6T5H1?
A) LDSIEDT B) G\ & 60T60)60T

C) SM6315G 19 D) (Lh6oL

80.6 1D 8556007 L_6UMMIGT &H6UMITET @)60)600T6M U1 &5600T L 1)
1. QLEOTHSIHIGET CaHITen6 — HIWTHITW CHF &Y

2. SLeoTHSTHIG6T LeTemens LAl — LN LIEh & 6ot

3. aumeoTld euEFLILI(HILD — LjeveuCrmy SifInG @ & 60160185 60T
A) S|meTS Sl Fif B) 1 nL_(\b &Fifl

Q) 1, 2 &1l D) 3 L (b &ifl

81.0WevmlILL(pr&HE& aL&ECSH Flev GLUMBISGET WLLGHICL @UhbHS LoeoreuGeleTflenulds
S LE&H HH W 6Ue0of185 161 M1 611 60T &) 60T S| 8VI6U6VIT T60T Wy SLBIGH Gl
GWCWDHMSHISHEMET QL LOMEHS CHTHOSHIHSTI?

A) BTGV LOGTEMT B) QFufNerl. 2mye (0)tnpschooks|

C) Ygmesr&len GL D) FF&TLO6N LD6TGMIT

82. FaMMIGEN6T QLT MUISH

1. QeWearl. MR CaMLamL&E 2 6TCm af(h&H6eT @UhHES LIGH ‘QelsteneTwli BT’
6T6OTMI 6MLPSHSHLILIL LS.

2. GEHEMLMLEGET @LiLeTSeTfear GHemeusemeT BlenmCaummild LieooflWmeTisser,
e &I&HeT CUTETCMMHSHEHETSH QeueflCGw Siemnds GUUImLLSET 2 6TaT UGS
‘GIHLILT BHILD’ 6T60T eMPSHEHLILILSI.

3. QeueTemeTwy B&IWL, &SMUUT BHHILD @eneonhs UGHGCW W&SIMEFLILILLG60TLD
GTeOTLILIL_ L&

4. IDSTTFLILILLIQ60TID 6T6dTM @ LUILIGS eQWBeHT L FlUNeT 2 6TEHH @B 86 Teor
QEerteoTLILf 60T @@ LW&erseflLWmbhs 22.08.1639 «ld mreflev gpmer&lev GL

UMM 6OTIT.
A) 1, 3 &1l B) 1, 2 &1l
C) 1, 2, 3 &ifl D) QemeTSH SN Fifl

83.Fn6UD 3L,MMIem 6T Y BIGCEVUITSHET 6TEUGTMI 60D S 60T P
A) nullevmliL, i opmi B) 5 (561606518 C& 60011 oM
C) Q&ITMMEM6VWITMI D) QjemLWmml

84. H(HeU6LEGCHeUIL HEMLGHGILD WTHOLW &HVeell(h UGS Licveveld
HMTVEH L FMHSE NleTRR WSS STLHHMmS?
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A) (PSOITID INCSHBHH TEUTLD LI6V6VE6DT
B) @ FeoorL_MD LDC&HBHH JeUFLD LI6V6V6U 60T
C) @& LbLneor

D) [5/b&) 6 [J L0 6dT

85.1065apm af& L Heveury MUlemev — eTeoTm auflull6y DL HEVEVITIT 6T6dTM @ & Mev6dl 60T
QUIT(HET 6T60T6OT?

A) @6TenD QUITBHSH W G LI6o0TS 6iT B) @ 6600 QIUITBHSH U 260015 61T

C) F\mieuF&s et D) AloiSlwiyg et

86.6(HEMLOW|L60T [Bl60TSISH (H LD6VITLY. B 6t 60TE 5 60T M

2 55005 2 M6 CaleoT(hLD — 6TedTm aUflGHemeT & WedF Wmy?
A) B ®HETTEFDLBST B) &\ GHT6&&TFT

C) LMool 185 aUMTEF ST D) GUGITETeVITIY

87.@QBCHT-FMIFesE HLLLESHMD Wemuiley &L IQUNYSESLILLL (PH6L SHLLLILD
6T&H1?

A) 2 WIhH DeTm aUeTMSHLD B) Qaullerl. 2mis GaTLemL
C) QULFmeN Qs TL 3L D) CELILIMGELD 2|[J600TL06D)60T
88.50 M MISHN6T DTS (0)tnpschooks

1. QILQ&F6Tem6oTLl LIGH &H6T DG TTEFLILLLG60TLD 6T60TMI 6MLNE 85 LILILL_60T.

2. QSHETQFTEN6TL] LIGH 86T Q& 60T6m60T LILIL_1Q 60TLD 6T60TMI 60ILD& &L 1LILL_60T.

3. 1688@)6L QF60Te06T BHTMTLF 2 (HeUMSHHLILILL S

4. 1646410 2,600T1q.60T 8560015618 (B LILN6TLILY @ BB ID&H&HETAS TS 19000 Q@& LD.

A) 1,2 bl (b &ifl B) 3, 4 nL_(hd &l

C) 1, 3 (b &ifl D) QemeTSH SN Fifl

89.L16V6VITEUTE F)6V o @Terr Li6vbeveury &GH6EOL6UMTT, WIT(H60) LI HTEVEFH 6V
QMNEHHLILIL L GI?

A) (LDS6VITLD @) T T ITE60T B) (L0&6VITLD DG&HHG) T6UIT LD 60T

C) @& LbLneor D) 565 6T L0 6oT

90..0MHBSHMLIL QUEFHSHSHT LLLTmL 2 (SHUIBERMS - eaarm  ealiflsemer
TS W6UF WIT?

A) UTTS & M& 60T B) LUTFHWITY

C) saMlLnevof] D) b.19&Fen055)
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91.5MMIGEN6T LTTUIS

1. 950 GMIEFILUTL®), (WevemeuL LML), QBHBHEVEUTEML, LIL 1q60TLILITE06V

2. L|mLD: LS THSTEHT, B HSTHMILILIEL, QUITBBITMMILILIEDL,
QUIBLDLIMeooT TMHMILILI6ML, &) mILITeooT TMHMILILIENL, g TITMHMILILIGL

A) 1 b\ &if B) 2 (b &Fifl

C) @uesor(d &ifl D) @etorHLD ey

92.FWleT. MFY GHTLL&EG6M @ULUaTSG6Tflar CoHeameaisemeT BleonmGalmmin
LI6oof | W TeIT T 86T, 6600l & I86T CLIMTCMT(HEHTES QeuaflCGu Sjemnss &LQuilpLiL|se6T

2 676 LGS 6T60T QEMLPESSHLILIL L GI?
A) s0LT B&ILD B) @B& W B&ILD
C) QeU6TEMETWIT H&HITLD D) &@®LILYT B&HITLD

93.9|DELNEUETITIT 6THS Hemevor LITL 6V emeT LMHeUSHI6L 6U6V6VeUT?
A) QBWSH6V B) (D6VEMEV
C) DHSH6V D) LITem6V

94.8aMmI: LGOI 6TeTLE STLHASHI 2 auemnsemer WLLGGCL LwearUubh S5 6
QSHTTHMSI.

SITIFEO0TLD: LIQLOLD SITLF S 2 55 G

A) Famml Fifl, HTFeoTD Seum

B) Fa MM Heuml, &ryevord &ifl

C) oMMl &TFeooTlD @ Tevor(HLD &Fifl, HMTFeoord FnMenm 6Nl6Ts &SR M

D) SaMmI, STIevorld @ Tevor(hild Fifl, QL60TIT6L SMTI6toTD FnMenm el6ms: & all6Leme6y

95. Ga MUY (NSS! WTMeT LUMMIWL FaMMIsemeT LT MUlIs.

1. @6 SeoteoflWm@&GLrl mell L GEHMISTUILILILL6oTD eTedTenild Ammrifley 1944@)6V
LNobST.

2. SOLHSILD, LDEMEVUITETSEHEVIN HIT6VSHEM6T LI L LILIGUT

3. UBleorld, Flmisems GUIMeTm LIGalm @6evEHUlgS SeTmS 6 @UImIS aumLIeU)

4. @6 eTWH W “Frule] BMTMHHT” aan LHlerd 1997@ 60 FTHSHL A&ETASLA
llBa QUOHMSI.

5. SMUNGELD, Fmetedl GHMTUL WHW uUemLLiLser sWlps rHFer  al@msl

QLM MIGITEIT6OT .
A) 1, 2, 3 &ifl B) 4, 5 &ifl
C) 1, 2,5 &ifl D) 9emeTSH SN FIf]
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96.5 LG QFaTemeTUilen &HHHCHTL. L& SH6TeUeTT

SH6VBLOMMHIG &HSCeuGeT

&H600T(LN&H G SIUIWILD6DT] 2_600T(LN&HE 60)F 61 L0 6001 |

FeooT(LN&H S G5 UI6ILN600T G — 6T6d0TM eUflEBemeT 6TWH Ul6eUF WITJ?
A) B BHEMTEFIDLIBST B) &{(evor &\ flwimiy

C) G600THIGL LDENVGTET FTHIL] D) 6UETETEVIT

97.10&TMELILIL1Q600TLD 6T60TLIS BLPESHTEDIN 615 @)60600THS LIGH I,&LD?
1. QeU6Tem6TWIT BT

2. S@HLIUT B&IJLD

3. 6U6DoT6E0OT T LIGLIL_60)L

4. FHSTHFIIGLL 6L

A 1,3 B) 1,2
C) 3,4 D)1,2,3,4

98. GFMO&HST LMTTHWTT 6T(OH\ W HIT6L 6THI?
A) GEFITLLT SHTWI(LNMM B) G&J STUWI(LLEmM
C) LIMT600TLQ Ul &TWI(LN6mM D) LI6L6V6Y SITWILNENM

99.80.MMIGEN6T L TMUIS.

1. QILQ&F6Tem6oTLl LIGH&H6T G5 60T6e060TLILIL1Q60TLD 6T60TMI ULO IS LILIL_L_60T
2. QBOTOFTEM6TL] LIGHE6T L0STMELILIL LY 60TLD 6T60TMI 60L& 8 LILIL L 60T
A) 1 b (B &if B) 2 DL\ &Fifl

C) @nesor(d &ifl D) @etorLD Heuml

100.8amm1: @BHWmeller Lev UGS &6rflev @hhSID QBFaUTOTIEH6T Q&F6Temeo GHTEHS
6UH& 60T .

SHITFE00TLD: QlF6Tem6oTUN6V 2|6mLDHSI6TET SHlemMm(LNSE LD

A) Famml Fifl, GTFeoTD &eum

B) Fa MM Heuml, &ryevord &ifl

C) oMM, &TFeooTD @TevoT(HLD FIfl. QLEOTITEV SHITFEUOTID FnMemM 6168 & e 606m 6V

D) SaMmI, &TFeord @ Fevor(hld Fifl. HTF6oTD Famenm 6T GH M

101.2L1UBSH S Fn6dl (e GMIHS HLOGHHTERIN FaMMIGH6TIV 6181 &flUIMeoTS?

Faohm 1 - @bs WenmuileTLly 6l Flemmasmemnsy CGUIMETM GHLpedlev Lievoll Qauiwl
Geuevor(H) LD
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Famml 2 — Leoollulley e SlD STLIGeoTTGIIT 6V6VE Lieooll QFUIW DMISHTECIT,

BB &&ETE HfIHHTCT, 2 HFT6&HE HLPLILIGW IDMIGSSTEEIIT, @LILIBS &TeVLD (LG U|LD
(pedr Leooflemwl el () eflev &leoTTGeuIT, Smedleml LDMISHCEUT 6VeVG! Fle M & 600T L 60)60T
QUL RIS G6UIT (LG ULD.

Fam 3 - @eTenmW BeOL (oMUl GHEGD eULbS Qgmiplerar) &L SHNHS
POHBIYILD LOTOTET S6oTLenearéG W @UUBS (end @& & LD.

A) Fapml 1, 2 LD &Fifl

B) SaM) 2, 3 LG &if] (0)tnpschooks|

C) Famm 1, 3 LD &FIfl

D) 6T6L6VIT G MMIGEHLD FIf]

101.Which of the following statements about contract wage system is correct?

Statement 1 — According to this method the laborer has to work in a prison-like environment

Statement 2 — Negligence or refusal to work, truancy, disobeying orders, leaving work before
the end of the contract period can result in denial of wages or imprisonment.

statement 3 — This is a punitive contract system that is completely different from the
indentured labor scheme in practice today.

A) Only statement 1, 2 are correct

B) Only statement 2, 3 are correct

C) Only statement 1, 3 are correct

D) All the statements are correct

102.10&mymeool]l el&GLmlwmeler 9l G186 HTusEH T Gl F LSS i 600m(H &6rflev
QMEE eueurwimer 647 WeveSlwer Liaeor(serfley 159 Llevedluledr Liey6oor(h &6iT
QRIRVTHH MG e IULLL LY BHER MG 6Te0T &HevorL MBS Fomlieul Wmy?

A) 9LJ.5.55 B) M&TUMTUI QBeTGrmel)

C) &GLOMY Q6T D) 5FHHTCFST [JTel

102. Who found that in the last ten years of Queen Victoria's reign, out of a total revenue of
£647 million, £159 million was sent to England?

A) RC Dutt B) Dadabhai Naoroji

C) Sukumar Sen D) Chandrasekhara Rao

103._ 5P&ESH 6T (D&KW 6TeooTGlevoTll ellg &Il LulgmELD.

A) eT6iT B) &4L0600T& &

C) G\ & 60T60)60T D) Blev& & L6060

103._ is the major oilseed crop of Tamil Nadu. tnpscbooks
A) Sesame B) Castor

C) Coconut D) Peanuts
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104.80mm 1: SOLDBHTL Q60T (NESRUILDTeT 2 6vore)]ILUINT QBH6L QG LD.

FaDm 2: QuUmedTeol]l LDHMID SEFEFI FOUT SUPHESH 0 LWIFILLUUGLD WHEHW GHY
U & EHETTGSLD.

A) i 1 &ifl, SadHol 2 Heuml B) oMMl 1 HeUDl, Sammi 2 &l

C) Gal 1, G @ 2 @retorGld &if] D) a1, FamMl 2 @revor(hlD SH6Um!

104. Statement 1: Paddy is the most important food crop of Tamilnadu.

Statement 2: Ponni and Kichadi Samba are the major rice varieties cultivated in Tamil Nadu.
A) Statement 1 is true and statement 2 is false

B) Statement 1 is false, statement 2 is true

C) Both statement 1 and statement 2 are correct
D) Both statement 1 and statement 2 are false

105.100T&HWIT QUMTLDHS MG 60T BleVLILIGS) 6TeleTm S6mW&HaLILIL L SI?

A) LDLLITE B) Q& ITJLO600TL_6V

C) Q&5 [TMHIG600TLD D) LSHWLILIGS)

105. What was the narrow land where the Marathas lived called?
A) Malabar B) Coromandel

C) Konkanam D) Midsection

106.0mL&eflell GHT(H 6ThsE @ BHTHHEHEHEG @)L G 60L0HSI6TETSI?

A) @BHWIT — LITEH Vg meor B) @QBHWIT — 3,118 M6t 1600 & MedT
C) @BH WM — GBHLITETLD D) @hSHwWm — Feorm

106. The Radcliffe Line is located between which two countries?

A) India — Pakistan B) India — Afghanistan

C) India — Nepal D) India — China

107. @BSHWIT IDMHMID LTS eVSTer @enLCGul GLMmOSTeTaTLILL L 6LILIBE MG EH6T 65
Frlwmeors?

I. Hllbeum @LILIBS LD

II. VMEnl LNgsL6oTlD

A) I D@L &if B) II b (Hb &1l

C) @nesor(d &ifl D) @eor(RLD Semmesrs)

107. Which of the following agreements between India and Pakistan is correct?

I. Treaty of Simla

II. Lahore Declaration

A) Only I is correct B) Only II is correct
C) Both are correct D) Both are incorrect
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108. sl @erll Lgsgemer QSTLIUTET &HHSEH Caumum®m 6bH&H BT (HL6or

QBHHWTNHE& gHUL L &P

A) @ 6VBIN S B) 94118560t 160 & T6oT

C) LUM&H 6N G meoT D) LDMev5 56

108. India had a disagreement with which country regarding the Tamil ethnic problem?
A) Sri Lanka B) Afghanistan tnpscbooks

C) Pakistan D) Maldives

109.@Q S WIMTel6dr BITETHST LIVSHMVHEHLNEHESH) LIBIGSTTTTES 2 6TeT BHIT{H 6752

A) @ 6LhIMNS B) aumI&HCHFID

C) 94,118 Meof16M) & TedT D) WwmedTo

109.Which country is a partner of Nalanda University of India?
A) Sri Lanka B) Bangladesh

C) Afghanistan D) Myanmar

110.86medl &MevEH 6L TWEFFILI QUMDHM ITSHWIFT (LN6TETSHTE WITIHenL_ W L Flulleor
G0 QI EFWEVLIL L 6oTJ?

A) urlleof] &605 medT B) (LD&6VTWIT

C) TMYUSHTI&H6IT D) &FTEH &R UITSH 6T

110.The Marathas who rose up during the Shivaji period were earlier functioning under whose
rule?

A) Bamini Sultan B) Mughals

C) Rajputs D) Chalukyas

111.8ammi: SLOLPBTL Q6L GauliLinesorLeull LILlF&seT LG 6w Lulfl L@ & ermeor.
sIyeoord:  SWOIDLBTH WLSEHWECTMSEHEHEG HH D, eIl L0etor608Hevld
S|MLDHSIETETHITEV QEULILI LNEDITL6V8 SITeVHlemeVemIL] GILIMISGMSI.

A) Famml Fifl IDMHMID STFeTD &6

B) Fa MM SeUml LoMMID S&TFevord &ifl

C) Famm &Fifl IDMHMID STFETD Snmenm allend:&GHMS!

D) Samml &Fifl DHMILD &TT6eord dnmenm ellems & eailevemey

111.Statement: Only tropical crops are cultivated in Tamil Nadu.

Reason: Tamil Nadu enjoys a tropical climate as it is located near the equator and in the
tropics.

A) The statement is true and the reason is false

B) The statement is false and the reason is correct

C) The statement is correct and the reason explains the statement
D) The statement is correct and the reason does not explain the statement
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112.@ S wmelledr SIP&E Q& MeTemn s UIN6oT eLNETMI (LNEGHIL So MIGET Bh6)60T?

1. eueSlemLnulment mlevILTLIL] @ emevorLIL] Q&ML LITEoTem6l

II. 6U6ODT1&HLD QG ITLITLITEoTem6Y

III. UMTSISTLL Q&ITLJLIM6T606)

IV. QUITIHETTSTT 6UeTIES Q&ML JLITET60 6!

A) L 11, III inL_(piLd & B) I, II, IV DL (b &

C) L, I, IV nL_ (b &1l D) II, III, IV IoL_(QlLd &if]

112.What are the three main components of India's East Policy?
I. Those related to strong terrestrial connectivity
II. Business related

I1I. Security related tnpSCbOOkS

IV. related to economic development
A) Only [, II, IIT are correct B) Only I, II, IV are correct
C) Only I, III, IV are correct D) Only II, III, IV are correct

113.8L0&TeID FoMHMISH6T60 Fflmersl ergi?

Fadml 1 — BT Fenlluller LUMHISTLIL Fenlullev @BHWIT (h BITFHST 2 ML BTLITS
QMBER M.

Famm 2 - 291-20 BTOH6T, HPHEETHRW 255 WrBTEH, BRICS &Snl LennLUL
GumesTmeumMleL @BHWIT 2 MILILN6TT BITLTH 2_6TeTSl.

FoMm 3 - QBHHWIT 2. 60H6T GLIHLOLITETENLOWITET BTHHEBLET SHTHTH 2 M6 606T

Q &Moot (H GITETS.
A) Gamml 1, 2 LG\ Fifl B) Gamml 2, 3 LB\ Fifl
C) Gamml 1, 3 LB\ &Fifl D) 6T6L6VIT G MMIGEHLD FIf]

113.Which of the following statements is correct?

Statement 1 — India is a permanent member of the UN Security Council.

Statement 2 — India is a member of G-20 countries, East Asia Summit, BRICS.
Statement 3 — India has diplomatic relations with most of the countries of the world.
A) Only statement 1, 2 are correct B) Only statement 2, 3 are correct

C) Only statement 1, 3 are correct D) All the statements are correct

114. BLD&8600TLaUMMIET 6T &FiflWIMTeoTSI?

I. 2 6TBTL( Q&HMeTens 6ledTLIG 62(H BMTH H60TS BT QMG 2 6T6emmeor elleUssITIyhIg 6T
QSTLIUMES Q& meooT(h6ITem Q& MeTends WM& LD.

II. Qalefliymels Qsmetens eleoTLg @@ BTk Lm BTH&HEHLT 6 &mevor(h 6Ter
QUGS TTMIGET Q&L IJLITETem6U W M@ LD.

III. a6, ATF SHHTWL, SOLUL BHLEIGSHNSEHET GUITETMeMUSGHET 2 6THITL ()
Q& TETEN & G660 BILMIGLD.
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A) L I bl Fflwmers B) II, III i0L_(hLb Fflwimeors!
C) L, III (B Frflumergl D) eTeueVTGLD &Fiflulmeors

114. Which of the following is correct?

I. Domestic policy is the policy adopted by a country in relation to its internal affairs.
II. Foreign policy deals with the affairs of a country with other countries.

I[II. Domestic policies include trade, statecraft, countermeasures, etc.

A) Only [, IT are correct B) Only II, III are correct

C) Only I, III are correct D) All are correct

115.8p&&eorLeummieT  Fflwmer  Sammleneors @ CxIHAS®.

i) GrMEeL&HE0TIQ60T FLI 2.8 QS6TeLm WMMID HBWTSHUNDT a9°m 2.5 Q&6Te
A FHCUITHLET Fnl L 6ol eSS 31560 LUFevly Q&THSHST.

i) ACWMSEH BeUMLl, FHHWIT, QML HM6VUTHET HGWTENTLI LIS E S8 6 & MT60oT L
LITSEHWT, TRUSSH &6 HLOLNGm&HenWULD G)LobS6or.

A) (i) &1 B) (i) &1l

C) (i) b (i) &l D) (i) Lo @iLb (ii) Seum

115. Choose the correct statement from the following.

i ) Abdali retaliated by forming an alliance with Najeeb ud Daula of Rogilkhand and Shuja ud
Daula of Ayodhya.

i) The Marathas, who were hostile to the Nawab of Ayodhya, the Sikhs and the Jat leaders,
also lost the confidence of the Rajputs.

A) (i) Correct B) (ii) Correct
C) (i) and (ii) are correct D) (i) and (ii) are false

116.@J600TL_ITLD QLMBISICeuW LTSS GUITT HeLGLIMM 2,600T(H P

A) 1803 - 1806 B) 1813 - 1817
C) 1796 - 1799 D) 1776 — 1784
116. In which year was the second Anglo-Maratha war fought?
A) 1803 - 1806 B) 1813 - 1817
C) 1796 — 1799 D) 1776 — 1784

117. GUET @LILIBSLD 6THS 2,600T(H 6086 WI(LDE S TE0TSHI?

A) 1803 B) 1802
C) 1799 D) 1806
117. In which year was the Basin Agreement signed?
A) 1803 B) 1802
C) 1799 D) 1806

118.5Mi&% Fnl LemlnllemLl LImMIU SLDE&HTEID Fammiserfley 61gl &ifluimers?
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FaDml 1 - FMF&H al LendliL QHMHETRW BTH\S6fler LNFmThHulsh Snl LenLoLIL| eT6oTm)
MPHELILOSHMS!.

FaMml 2 — @& 6 HT(H&em6T 2 MILILN6TITeH Q& TeuoTL_Gl.

Fahm 3 - @6evCrm gemwlL Fmys LomhbHWSHMHETer ‘QFWUS Q&TLIL MM
aUmeofleney UM TSH « FMTE QEFWMENHECHT6T QFNGHH 2 6TeTs).

A) Famml 1, 2 LG Fflumers)

B) dammi 1, 3 0D Fflwimeorsl

C) Fammi 2, 3 L Fflumers) @

D) Q6M6THS FaMMIGEHLD &Fflulmerg)

118.Which of the following statements about SAARC is correct?

Statement 1 - SAARC Association is known as the Regional Association of South Asian Nations.
Statement 2 — It has 6 member states.

Statement 3 — ISRO to launch SAARC Satellite for 'Communication and Meteorology' for SAARC
region.

A) Only statement 1, 2 are correct

B) Only statement 1, 3 are correct

C) Only statement 2, 3 are correct
D) All the statements are correct

119.5aMM 1: QFHTCLOMES LIHeUSHSTMMI HTeVEIH6Tlev CLMEG QFHTLIFF L06m6vH6rfleor
CMG Fflall LGS HeTenpenill QLMIGMSI.

FaMMl 2: IDTMTS STITOQLTT, HFBITLST, QSemIsGTerT, ShHTL LNFyCssLid Inmmild
SLAPBHTL Q60T QUIBLLIGHG&GET GIOMEG QSTLIFH 0e0)6v&H 66T DemLPIenmMe]Ll LIS
QLS S&SMTHM CUISTLLUSSHSH AMWLBRBLLSTH O&H&EGSGMbHS 3(6T6)
06D DM UILT G LIS 60T M 60T .

A) &apy 1 &, &mpho 2 Heuy

B) &aDQ 1 U, FaH 2 &if]

C) &ap 1, DA 2 @UetorQILD &ifl

D) &aDml 1, Fa DO 2 @Tevor(HID Heum)

119. Statement 1: The western slopes of the Western Ghats receive heavy rainfall during the
southwest monsoon.

Statement 2: On the other hand, Maharashtra, Karnataka, Telangana, Andhra Pradesh and
Tamil Nadu receive very little rainfall as they are located on the lee or windward side of the
Western Ghats.

A) Statement 1 is true and statement 2 is false

B) Statement 1 is false, statement 2 is true

C) Both statement 1 and statement 2 are correct
D) Both statement 1 and statement 2 are false
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120.LIL06MMOWITET LGS LMeNM&EBETTT  SImenerl,enmery  CUITETM  LIMenMEET,
Fl6m) FH6UML6UGHITEL 2_(HEUMTELD LO6DOT UM 6THI?

A) Q& LDLD6DOT B) 6U600TL_6V LD6DOT

C) &1fleFev LnevoT D) FJ606IT LD6voT

120.Which type of soil is formed by the decomposition of ancient crystalline rocks like granite,
gneiss?

A) Red clay B) alluvial soil

C) Alluvial soil D) Gravel soil

121.Q6ueTemnemwGer GQeueflGuMm @u&EsSH6er GUMs LUTUley @Usslul eumGeormed
@OUTUINMHG eSS L LeuF wWmi?

A) &UMeY FHHT GUITen B) QQ.IT [HEUITEN & IT60T

C) 269 GGG D) G.S. &leveuTedr

121. Who initiated clandestine radio broadcasting in Bombay during the Quit White
movement?

A) Subhash Chandra Bose B) Shah Nawaz Khan

C) Usha Mehta D) G.S. Dhillon

(O)inpschooks

122.@BHWT  Ssmemiin  aHe 2 mililery 36L6V?
A) G-20 B) IBSA

C) BRICS D) G-8

122. India is not a member of which of the following?

A) G-20 B) IBSA

C) BRICS D) G-8

123. @BHW Qeueflimesds Q& meTen s U6 L LILIL & H(IHSHSIEH6T IL6U60T 615I?
I. G5BT W HevemeoT GLISTDIS 6V

II. 2 605 MNFH MW 6TUISISE

II. oW SSeNLIL

IV. YD BTH\EEBL60T HEVEMENE 66T TS S 6V

A) L II, III @\ B) L II, IV ol (b

C) L, III, IV ioL_(h LD D) @ 6m6l 3|60)60TH SN
123. What are the basic concepts of Indian foreign policy?

[. Maintenance of National Interest

II. Achieving world peace

III. armament

IV. Developing good relations with other countries
A) 1, II, IIT only B) I, II, IV only
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C) I, III, IV only D) All of these

124.@Q S W meletr 9jsml Q& meTen U6 MG &([HE SIS SH6T ILEU60T 6T5I?
I. PS6edl6L LIWeTUH S SI6UT 606emev.

II. GeOMBSLLF BHLOLISGLOTET SMETLILS Hmeor

III. @(H (MM G CLO6V LIUI6OTLI(H & S 6156060160

A) I oL@ &ifl B) II (b &1l

C) L I (b &ifl D) eT6LeuTGLD &if]

124.What are the central concepts of India's nuclear policy?

I. Do not use first.

II. Minimum credible defense capability @
III. Do not use more than once

A) Only I is correct B) Only II is correct

C) Only I and II are correct D) Everything is OK

125.510LDBTL Q60 2_6T6m QLOMSHSE QhF 6UITe0)6V 56T |60T 6T600T600T 18601852

A) 435 B) 460
C) 200 D) 345
125. Total number of handlooms in Tamil Nadu?
A) 435 B) 460
C) 200 D) 345

126.5flwmet samenms CHIHOSM.

1. @bwmellesr emwallld HPs&HEG wHoIn CMmEG WAWTNDHEG WwsSHullswd,
AR Wmellett QG560 LIGH WD emDHSI6TeTS.

2. @BHWL QUBEISELEL aPNliLmms, Cum&Haerer CrmULNW BTH&M6TUD,
PSS THAW BTHHMETLD @eness @BHWmellm@ emmall (NE&EHUISSI0ES
Slef&ER M.

3. @pHwmellet CUMHG HLM&HMT CLMESG AWM, UNflesasm whHmih CrmLLw
BTHSHEMET @ eM6I0T&HGID LIMTVINTSHAID, HPEHESG SHLMSHOMT QHOTHPEG LMHMID
RP&ESHTH W BMTH&HEHLET QBIHHBISH W QSTLIL Q&meTaralh 2 gal LflSma.

A) SjemerHSILD &l

B) 1, 2 &Ifl

C) 2, 3 &1l

D) 1, 3 &ifl

126. Choose the correct statement.

1. India's location lies between East and West Asia and in the southern part of Asia.
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2. The Indian Ocean Corridor gives importance to India by connecting Western European
countries and East Asian countries.

3. West coast of India acts as a bridge connecting West Asia, Africa and European countries
and East coast helps in close communication with Southeast and East Asian countries.

A) All are correct B) 1, 2 are correct

C) 2, 3 are correct D) 1, 3 are correct

127.108:8606IT 3|J& 60T ©)60)600T LIS GLDE&600TL6UMMIGT 6THI?
1. FITE0I6V QUTFF)G6T

II. D(HSHSI6U CFemel

I1I. I8l6dTEFM LD

IV. QBT lHMID &&HTSTFLIN

A) I, 1I (LD B) I, II, III oL_(H)LD

C) L I, IV inL_(h\LD D) @) 606U |60)60TSH SILD

127. Which of the following links the people with the government?
I. Road Facilities

II. Medical service

III. Electricity

IV. Drinking Water and Sanitation

A) 1, 1 only B) I, II, III only

C) I, III, IV only D) All of these

128.9|7& flemDWImeTsl, L|6l&HEHE56Temn 2 el WG WwmMID  WFLeudlulmers  ereor
FoMIWIGUTS6T WITH?

A) GETI&HET B) GFMPI&6T (0)jtnpscbooks
C) LIM600T L9 UL T & 6IT D) LI6L6V6U & 6T

128. Who said that royalty is sacrosanct and hereditary?

A) Cheras B) Cholas

C) Pandyas D) Pallavas

129.”6p(1H LD60T1H60T TG 6TsnllD AemLILNMHEG6T 6UMDEUSI, S|6U6T LD6T1&HE & 60T60)L0U|L_ 60T
TP, @eeal @ueohld @aTCGm” 6D Jamm  HLDE600TLaUTSH6NT6Y

WITHeMLWSTGLD?
A) NermLGLm B) 9jfleuLmL_ 196V
C) LDM&HSH W66V D) Q&6TIq60UWIF

129. Who among the following said that “a man lives within the system of government and he
lives with his human nature, both are one and the same”?

A) Plato B) Aristotle

C) Machiavelli D) Kautilya
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130.62(H VLG THFI6v 5040 GLQLDESHET UMDIS GUTHINTETS 6T60rd G MILILIL LeuF
wImg?

A) NeTmLGLT B) 9jfleruLmL_ 196V

C) BI&HGHTCIT IDTHEH WAV D) @6UTSH6T WITIHLD {606V

130.Who said that 5040 citizens are enough to live in an ambitious state?

A) Plato B) Aristotle
C) Niccolo Machiavelli D) These are nobody

131.BLO&TeID Fammiserfley 61gl &ifluwimers?

FaDml 1 - QHHUT 2 608 THIH (1 &H&HS BleM6V|L 6T &&5HHTLOMES D 6TTS.
Fahm 2 - @BHWT UM ST&seller QHaEsHs5HHES 2 LULTSS)

FaDm 3 - @QHHWT LIMD ST&HHEBLET LB GLDMG & TETETeVTLD

A) Gamml 1, 2 LG\ Fifl

B) gamml 2, 3 DL_(H\D Fifl

C) Gammi 1, 3 LB\ Fifl

D) 6T6L6VIT G MMIGEHLD FIf]

131.Which of the following statements is correct?

statement 1 — India is independent with a suitable position on the world stage.
statement 2 — India is not subject to the domination of other governments
Statement 3 — India can enter into treaties with other governments

A) Only statement 1, 2 are correct

B) Only statement 2, 3 are correct

C) Only statement 1, 3 are correct
D) All the statements are correct

132.(H T Q&T6oTI) (HEH CeUevorLq.Ulemeudserflev GLDE & 6voTL UM mI6T 6Tl &iflulmeorsi?
[. IDHSHET 6VEVGI INGHEHET C&H TN

I1. mlevILIFLiL

I1I. 9 JFMHIGHLD

IV. @)60)MUIT600T60) LD r@

AL I L@ &ifl

B) II, III InL_(p\LD &if]

C) I, III, IV nL (b &ifl

D) @emeal TGl &ifl

132.Which of the following is correct that a government should have?
[. People or population
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II. Terrain

III. Government

IV. sovereignty

A) Only I and II are correct

B) Only II, IIT are correct

C) Only I, III, IV are correct

D) All of these are correct

133.“9ipFer alBLILIBIGMET 2 (HUTHH GealaflliL@ESH 2 LT BlenmBeaummild &
(PEHMLOWITEH STFTMHRISLD N6eTHBIGRMSI” FaDHm WITIHMLUSTESGLD?

A) GUmTR W LUTSIenT B) &).eTL1.6VL_[FTAI

C) 86T GLIMLY 60T D) Qamgmeu(h eumen &

133. “Government is an agency that formulates, expresses and executes the wishes of the
government” whose statement is this?

A) Professor Appadurai B) CF Strong
C) Jean Bodin D) Harold Laskey

134.L1600T60) L8856V SHI6MM (NG BIS6T GLDE 8 600TL_6UMMIGT 6TSHI?
[. LIDLSTT, Q&BTMHeN&S

II. uFaUFWSH T, Quflwerm

I1I. 9fl5&G0), L& 6T G 6T

A) 1, II o (HILD B) 1, III LoL_(HILD

C) II, III inL_(hLD D) @ 6m6l 3|60)60TH SN

134. Which of the following were ancient ports?

[. Poombukar, Korkai

II. Vasavasamutra, Perimula @
[II. Arikamedu, Alagankulam

A) I, II only B) I, III only

C) 11, IIT only D) All of these

135. SL&HETavID 6hHS @LmIsG6fley LeorUML(® UFIDMHMBISET BLIHH6U6MEHUITSH
SMBlwILG&H D GI?

. OFHTHPNGG P W BTH&6T

II. Eeotm, 6THILISGI

II1. Gprwrmyr], HCr&sLID

A) L II ol (BId B) I, III ol_ ()b

C) II, I inL_(hLD D) @ 6m6l 2|60)60THSIL_69ILN
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135. Cultural exchanges are known to have taken place at which of the following places?
I. Southeast Asian countries

II. China, Egypt

III. Romepuri, Greece

A) I, 1I only B) I, III only

C) 11, III only D) All of these

136. FmIsL LUMTLeN6T euem&sLIUMLIguledley LMD eTedTLG SHLhs&smemiln erengLLm)

Fo. MIGUF60V6M6V?

A) GUITY B) G60T60)L0 LDMMILD FH6mIln

C) gepsid, BS), Wgwre D) ojebTL FMIHS QGSS6V

136. Puram in the classification of Sangam song does not refer to which of the following?
A) War B) Pros and cons

C) Society, Justice, Monarchy D) love dependence

137.@607, 105, QML FlmiLimetenoulleor(h&H & mMeoT 8. BIT LIFsL6eTd GMl& S &L 8 & 600T L
Fammiserflev Fiflumer ellemLenuwls CHTHGS (M

(i) P miLmeTemnlouUleTy SHIGET UMM, OTL&6T, Qomd wmmin LevorLim@p LMl
SMlenel aUeTIS I8 Q& TeTeT &l MILITETemLD D& S EHE G 2 [flW eUmUILIL|S56T 3erfléas L
Gouevor(h)LD.

(i) gMEeTCo 2 6Tem D6fls 2 flemlngseT MHmID QUL &SHHTSEHMNHG @HSLI
LNo& 60Tl 6TH& euem & UIlavid 2emmi eNlememalllILIG TS | 60LDUISTn L TS

A) (i) LODID (i) &ifl

B) (i) LoMMILD (ii) Heuml

Q) (i) & (i) Seumy

D) (i) seuay (i) &fl

137. Choose the correct answer from the following statements about the UN Declaration on
Ethnic, Religious and Linguistic Minorities

(i) Minorities should be given due opportunities to develop knowledge of their history,
traditions, language and culture.

(ii) This Declaration shall not in any way prejudice existing human rights and fundamental

freedoms.
A) (i) and (ii) are correct

B) (i) and (ii) are false (0)tnpschooks|

C) (i) True (ii) False
D) (i) False (ii) True
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138. BLh&&600TL. Fnmmisefley Fiflumer eflemLenuwis CHTHES M)

(i) fley 15(4) Fewpss mmild sevalluley LNHUGSSLILIL L euGLILIN6TT 360608 LIL1qUI6V
Frgd  wohmib  upkiGlguilearilear  WeTGarmmEsFmeETer  FmUiLsS S LHIGE6T
2 (HUMEGUSNEG STFMLILE FLL el 29(2) HMLWITES @ (H&HETSHI.

(i) Wifley 16(4) oipsLiuemluiley GUTHW 6me NTHBIHSHADOLMTES 606015l
Nou®@ssliul L auGLllearmaessmer Leolpblumearmgeafley @L @5650h eIphis
GMOGEMETATLIL(RID QFWLVEHEHEE G euald) SemLUTEH @) HEHHMS.

A) (i) LoDoud (i) &ifl

B) (i) LDOOID (i) Heum!

C) (i) &1l (i) Heuay

D) (i) seuy (ii) &fl

138. Choose the correct answer from the following statements

(i) Article 15(4) does not preclude Article 29(2) of the Constitution from making special schemes
for the advancement of socially and educationally backward classes or Scheduled Castes and
Tribes.

(ii) Section 16(4) does not preclude actions taken to provide reservation in appointments to all
backward classes who are not adequately represented in government employment.

A) (i) and (ii) are correct

B) (i) and (ii) are false

C) (i) True (i) False (0)tnpschbooks|

D) (i) False (ii) True

139.urmflerv B&EFleT LUGHESWD’ WTFLBGBHE S@GLLUL QUL LS?

A) LDQMENS JLILITEN B) 60)0&5C&H6V KTEH & 60T
C) J&GLI6V HLIT6V D) Camm&eor &dluwimeot]
139.Medal of the City of Paris' was withdrawn from whom?
A) Mahmood Abbas B) Michael Jackson

C) Rafael Nadal D) Hossein Giani

140.5aM0M :FHHTUMTET-3 QeummMIsTImss Blevalley SenguilmBISHIUIemNS Hl6o6oTe|Sn (HLD
almsuiley gpsmevl 23940 CxHemwl CHHW  alleorQeuefl  HleToms’  DSH W
S FFTeme6l 3MleNlsSIeTensl.

&yeoorld @ evor(h  Bleve] @ LMBIGeneT ‘GImasm  Umuleorl’ (FHSHTWmer-2 @)eor
WEHenT) IMMID Faussd Umuillerl (FHETWMeT-3 @MmmIGLD SeTD) erer @) Fevor(h
Q\LMI&HM6TW|D SDNFFTemnel LIMTTTLIQUISI.

A) Gamml Fifl &TFeoTd Seum

B) fa.MM Heuml STyevord &ifl

C) FaMmMml LDMMILD &ITFevorld &Fif]
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D) Ga MMl LDMMILD SHITF600TLD &6Uml

140. Statement: Union Cabinet has declared 23rd August as 'National Space Day' to
commemorate the successful landing of Chandrayaan-3.

Reason: The Cabinet appreciated the two lunar sites as 'Thiranga Point' (landmark of
Chandrayaan-2) and Shivashakti Point (landing site of Chandrayaan-3).

A) The statement is true and the reason is false

B) The statement is false because it is correct

C) Statement and reason are correct

D) Statement and reason are false

141.9711969 QWIG&EH Kieredley (BMJ) Qeueflulul L syuiedleruly, 6bhs
e S WImeT LmMICHTUI HE & emalley P55 Si6Tens?

A) LDMIUS LMMIGBITUL B) @U5& LMHMICHTUI

C) BiemufreL LiMHaIGHTI D) auufimis Lo mIGHTUI

141. According to a study published in the British Medical Journal (BMJ), which type of cancer
has increased the most?

A) Breast cancer B) Leukemia

C) lung cancer D) stomach cancer

142. BLDE&H600TL. BI6LSHEH6T 6T (HSOH TN HBIT6L V6VMTHTI 6TS5I?

A) US OGS B) 560505 M5
C) uflumLev D) DGO SHITEHT
142. Which of the following texts is not ettuthogai?

A) Pathirrupathu B) kalithogai

C) paripadal D) Madurai Kanchi

143. BLDSH&HMTEID Sammigserflev 61gl &iflulmersi?

. SIDUSTUSEHO QSTsTHLIWSHET WHY @ueor(h LSHSEHMmEEHn Hlps
@) 6LEGETINME S(IHSLILIL LS.

II. FHIS @6eVHEHWRIEGEHSHEG LN CFsflesasliul L Lpuenmer BTMESTemel 36060l
LIML6L STL(H) 6TeoTLIG HLDEE600T8:G 6T60T SenP&ESLILGSRMSI.

A) I bl (b &ifl

B) II (b &ifl

C) @nesor(d &ifl

D) @ueor(hLd el

143. Which of the following statements is correct?

I. Initially the first two books of Tolkappiyam were treated as Tamil Grammar.
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II. A collection of popular texts or hymns collected after the Sangha literature is known as
Khilkaganku.

A) Only I is correct

B) Only II is correct

C) Both are correct (0)tnpschooks

D) Both are wrong

144.GLD5 &Ml SamMmidseflev 61gl &iflulmersi?

FaMml 1 — GO IDLMBISGET, HHIG6T UTSHSTULIMETHEG FeNsL 6Telld &L LemnL1L60T GLp
6U[H &5 60T.

Fadml 2 — FeNSHMBIGET SHIsGETler GuULL UTSISTUNMSETS FUNSTUWIWD 6Tenild
SlemLiement G5 mmmIad s s 6or.

Fadm 3 - SOBUIHET HHEIGET 2 0HUWL CHMEUGHHTSH MM TEFE SFTibHI
@ BHSH 60TV GH DL 6TeID SeMLOLILN6L UMDIHS QUHS 60T .

A) Gamml 1, 2 LG\ Fifl

B) gamml 2, 3 LB\ Fifl

C) Gammi 1, 3 LB\ &Fifl

D) 6T6LEVIT G MMIGEHLD &FIf]

144 .Which of the following statements is correct?

Assertion 1 — Families came under the structure of society for their own protection.

Assertion 2 — Societies have evolved society for their betterment.

Statement 3 — Individuals depended on others for their worldly needs and lived in the family
system.

A) Only statement 1, 2 are correct

B) Only statement 2, 3 are correct

C) Only statement 1, 3 are correct

D) All the statements are correct

145.8Mmm (A): QMer Jrevey IJJeuiseflear BHHECHETLUTEH (DWW UITETSH TS
3|6 HS) (H 5 & l6L6mI6V.
&MJeooTld (R): FENGHMBISGHET @emLCuWmer Q&Fevalll LURTe SMISSH Tmuen ule]

QEuwweilevemev.
A) Famm &MJeooTld @ ueor(QCL &Fifl, Fammssmer SFiflwmer elemsé&InMs &ITFevorLD
o _GTeTSl.

B) S MMl LDMMILD &TJ6eorLd @) Tevor(HGLD &ifl DY60TMTEV S MMIE S TeoT Fiflimest ellem&&L0mss
SITIJ6O0TLD @)6LEM6V.

C) Famml &Fifl QL6E0TMTEV &ITFE00TLD &6Um

D) Sa MMl H6UM 3,60TIT6V SHITFevord Fifl.
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145. Assertion (A): John Rawls' theory of justice is not complete.

Reason (R): Rawls does not study the distribution of wealth between societies.

A) Statement reason is both correct, reason is the correct explanation for the statement.

B) Both the statement and the reason are correct but the reason is not a correct explanation
of the statement.

C) The statement is true but the reason is false

D) The statement is false but the reason is correct.

146. euem@d BIHI&H6lev aumend AF&GFHS aHeUSNE&G UeTiHS HTH&HC6T
QUITMILIGLIMS GeuetoT(hLD 6T60TMI Fn MILIGUT WITH?

A) 6T Jerv &edt )41 (1 N (O) tnpschooks|

C) &MV QUMTHECSH D) £31T60T [JITeL6N

146. Who says that developed countries are responsible for increasing poverty in developing
countries?

A) John Ruskin B) Socrates

C) Thomas Boke D) John Rawls

147.8mm 1 :05HW SeTaleTd, STeVBemL LUTTWFILL WwMMID  LIT6V6U6TES 60 M
MFFT UTCaQMEHSID  epUTC, LWSGTITaT LWMFEled  (puemuuiley 2 6Ter
WeQeUBES Tl FaUMeT 6nlDUISH6V @@ BT ‘WeTeuensHMmamer CaFF samer a5 W
LTBHTL (&GS SHMeVenLn SITHIGH MITH.

Famm 2 :8eTeueTs Slemm (DoF) WmMID &meubenl. LFTiFliygs gsiemm (DAHD)
AHWemel @ emneThSl Blevs sl LNTEFemearsenens SI6e @b WTHITL L gmUT(H
Q& UIGIGITEIT6OT.

A) Gamm 1 DG Fifl

B) Famml 2 0L (LD &Fifl

C) Gami 1 LOMHMILD 2 Sl

D) Siemerg gl &ifl

147. Statement 1 : Union Fisheries, Animal Husbandry and Dairy Minister Parshotham Rupale
presides over a one-day National Conference on 'KCC for Fisheries' at Yashwantrao Chavan
Centre, Mumbai, Maharashtra.

Statement 2 : Department of Fisheries (DoF) and Department of Animal Husbandry (DAHD)
have jointly organized this conference to address the issue of subsoil.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Statement 1 and 2 are false
D) All are correct
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148.10&M5W0M &MHSHUWleT 12 99 2wy Hemev FUILUSHO aHFH BHEISH HMTHS
QUMY ST 60T HM&HELILLLSI?

A) Ul GLevell B) &U&

C) (pLhemLl D) Q&ML&HSHHIT

148. A 12 feet tall statue of Mahatma Gandhi along with Gandhi Vadika was recently
inaugurated in which city?

A) New Delhi B) Surat

C) Mumbai D) Kolkata

149.810 55600 Fammiserflev Frlwmer aflemLenwsd CHIHE S0

(i) Fend GLVMHESH 2 corFallemeorLl QUMM LiesorLIML (R &welleT mm & wpedleoriflesr
Fgengs 2 fleowsamer UMSESHHES (LWaIDGUMES  FeNSLILIMSE  (LDIJ600TSH6T
2 _(H6UTH60TM60T.

(ii) HMIGET LGHTET CLVTHHHHMS LDMIGS HHGHEHEHES 2 [l 2 flenngGemner FLOMSE
QUOMIL BLSSIHM CUTITLL 2 eorjellenerCW Fensd B eTer&HGMmITLD.

A) (i) OO (i) &Fifl

B) (T) '-DCDQHLD (i) Heum (G)tnpschooks,

C) (i) &l (i) Heum

D) (i) euny (i) &ifl

149. Choose the correct answer from the following statements

(i) Antisocial conflicts arise when a cultural group with a sense of social dominance tries to
usurp the social rights of other groups.

(ii)) We call social justice the spirit of struggle to deny the supremacy over them and get their
due rights equally.

A) (i) and (ii) are correct

B) (i) and (ii) are false

C) (i) True (ii) False

D) (i) False (ii) True

150.8amm 1 :Ga:permelledr GCHMW&HECHETH WMl LEH6 BILT eeUFey GQ&TmHm
&MTyeoorlomg: @eul 2 ulflpbaleTerery. IDSH U &HHTHTISIENM MNEF] LD6THS
Lomevor LelWIT, BlUM emeugeny LTS LIUme 2 uliflphsgs 2 mis QaFwliLl (bHeTeng.
Fohm 2 FHCHHSHMGFLI0MOT BTG QUPSHGHEHT SMHCLIMSHI  5600T8 Mevol1LILN60
2 eitemeot, aumMledr LMTHfl&Ger LGerallev 2 6Tem GHHW emauFmevedl BlmialersHMm &S
O LILILILIL_(H 6T6IT60T .

FaDm 3 :5600T5MeolILILN6L IDMBleV T&EHG 256G MHHETSH NSGH W TH 6T HTETE
I51L]600T [J 86T Q&M600TL & (WD6LD CHITETTe&H G e 1L (H6Tensl.
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A) Gamm 1 DG Fifl

B) Famml 2 0L (LD &Fifl

C) Famm 3 LB\ Fifl

D) S|emerg Sl &ifl

150. Statement 1 :Two people have died due to Nipah virus infection in Kozhikode district of
Kerala. It has been confirmed that Union Health Minister Mansukh Mandavia has died of Nipah
virus.

Statement 2 : Four suspected cases are currently under surveillance and their samples have
been sent to the National Institute of Virology, Pune.

Statement 3 : A team of four Central Government experts has also been sent to Kerala to assist
the State Government in monitoring.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Only statement 3 is correct

D) All are correct tnpSCbOOkS

151.6L0&8600TLalMMIET 615 2 GeumasLIGLIMeY 60607

A) GUITTmeoT B) o7& 60f&
C) §160 & meor D) mlulmedt
151.Which of the following is not a forged metal?
A) Boron B) Arsenic

C) Silicone D) Neon

152. LD 600TLQUMMIGT 678 BEVMTHLD 6V6V?
A) 91,8 & 9260T B) &ITIJLIGoT
C) QLJ&eofls D) &Germifledr

152. Which of the following is not a metal?
A) Oxygen B) Carbon
C) Arsenic D) chlorine

153.8amm (A): 2 Wilifleormigsefler oj6mea], FlEHHMET QF6), HEHEHEHET, 2 L6V S emnLIL
GumesTmeumMlev &meooTl LG CaumiLmh&ebsE 2 uiliflarmaerfledr s@hmigGenLLIL]
6T6OTMI QLIWIJ.

FoMH M) (B): o uilifleormiss erfl 6ot 62 (IH Ml & 60) LD L LI 60T Sl GLhmlemev oL L
o Wifleormisefledlpba 2wy mlevewnl L 2 wWlfleorhgser ey @Cr wwrHFlwnms
& IT6ooT LI LI (h) 6\ 60T 60T .

Instagram Click Here @ 9578985878 ® Telegram Click Here



https://instagram.com/tnpscbooks?igshid=18pmj9k47ujts
http://bit.ly/tnpscbooks_official

TEST TNPSC-2024

BATCH GROUP-V | VAO | TYPEST G

[©)tnpschooks

(Gltnpschooks PP

SWns G HHsTCs..! (pigeeud.I

A) Famml A &1fl, B eumi

B) oM A, Heum B &

C) Gahml A, B @reor(hild &f]

D) &ami A, B @Ueor(HLD &eumi

153. Assertion (A): Differences in size, cell complexity, tissues, body structure, etc. of
organisms are called assimilation of organisms.

Assertion (B): The composition of organisms is uniform from lower level organisms to higher
level organisms.

A) Statement A is true and B is false

B) Statement A is false B is correct

C) Both statement A and B are correct tnPSCbOOkS
D) Both statements A and B are false

154.@ J600TLITLD BIMHMITE0OTIQ6V QUMLDHES HTeVLAl 6T6OTERID 6UMoiIWIGVTETT 6THS [HITL_ 6oL
FIJHSEUT?

A) BCT&HSH LD B) L& m

C) eTHILISI D) §eorm

154. Astronomer Ptolemy who lived in the second century belonged to which country

A) Greek B) Africa
C) Egypt D) China

155.61D8 86007 UM MIGT 6T 62(HLILYESHTeOTem 6l @& LN?
. 2_600T60ILD 60 JTF V6T

II. 2 G6VIT&H SH6VEM6EUSH 6T

I1I. Q& MTMmI&H6EVEH6T

IV. 8o DLOMHIG 6T

A) L II oL @ID (0)tnpschooks
B) II, III LoL_(HLb

C) I1I, IV L (b

D) I, IIl ioL_(h)LD

155. Which of the following is uniform?

[. True solutions

II. Metal alloys

[II. Hangings

IV. Colloids

A) I, II only

B) 11, III only

C) 111, IV only
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156.106V[fl6edT L6 LDSTHSS &TeTs6rleor 618 ME LTS

A) D&HTHSSHTET QUL L LD B) 60L& GULLLD

C) D&ETBSS Ser D) @60 14

156. The bundle of many stamens of a flower is ____
A) pollen circle B) gynoecium

C) Pollen D) stigma

157..6T6& BITL(OL6oT CGHMPIL QUTIHL G660 @mMEEGIGE QSTLITLITET &FJE 60586060
W46 E6GE G&Tem(helT @bSWIT NIG6] CFISS?

A) @ 6VBEIN S B) 9|QL0Ifl& &

C) @evGrev D) UmIS6eTTECHaq

157.India decided to end disputes with which country regarding import of poultry products?
A) Sri Lanka B) America

C) Israel D) Bangladesh

158. Gamm 1 :@uHsWm-etevl ereorlg WONWIeNBHS &ry 1.5 wWlevedlwer SIS
Q& MMV 3eMLDHSIGTET (LNG6V @i luledT-LLLAl 6VITE TMEh & WieoT Lj6erfleml (6TeVL 1) &M
@@ e6flaul Ll Umensuilsy @ubhas Giluemer 9pile] QFWIUWWLM (WS @ HSIW
alevorGleuerfl 19 LILemL U6V TeT LUl L& LD.

FaMml 2 :QFLILIDUT 3, 5 MmmMih 10 & w CaH&6flev (nemmEUl (LNG&6V, @)T600TLTeUS
LDMHMILD eLpesTMTeU G LLLSlemW @)6m6toTah G @GS Qeumnl&Inme BlGLESSLILLLGI.
Fahm 3:aleorseuld Lleowd &mnl 16 BmemT UweusHer CUMSI GLFF &err
QEFWWLILG&BTmeT, @60 CUME alletoTdevld Ll &H@& &H60T CaD LIWeTsSHMm &S
CHemaUWITeoT CaUdHGHemnSL1 GlLIMID

A) Gamm 1 GBI Fifl

B) Famml 2 0L (LD &Fifl

C) Famm 3 LGB Fifl

D) Sienerg gl &ifl

158. Assertion 1 : Aditya-L1 is the first Indian space-based observatory to study the Sun from
a halo orbit around the first Sun-Earth Lagrangian point (L1) located about 1.5 million km
from Earth.

Assertion 2 : The first, second and third Earth docking maneuvers were successfully performed
on 3rd, Sth and 10th September respectively.

Assertion 3: Maneuvers are performed during the 16-day orbit of the spacecraft during which
the spacecraft acquires the speed required for its further journey to L1.

A) Only statement 1 is correct
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B) Only statement 2 is correct
C) Only statement 3 is correct

D) All are correct (0)tnpschooks

159. BLh&&600TL. Fnmmisefley Fiflumer eflemlenuwis CHTHGS M)

(i) @BHwmellev, LTMSH6T SMeVSHS IOTL| FTTHS &S 60)60TULITEV 2_(HEUITE0T 61 ([H600T T L0
SO Fens LU Blemev, GLD6L — BLD 6TedTeRID LIMGUMTL ML Q& MeuoTq.(HEH M.

(i) eUHEDOr LILQBlem6y SemLIL] ‘FSIT UIH6DOT eMOLIL] ([BTEOTE 6UH6EIOT S{6emLDLIL| —
SbGHewr], FSS WY, meuS W, GSHTT) 6TelTl HMLP&ESILGEMS!.

A) (i) LODID (i) &

B) (i) LoODID (ii) S6um

0) (i) & (i) Houm

D) (i) seumi (i) &rfl

159. Choose the correct answer from the following statements

(i) In India, the Varunasirama dharma developed from the traditional thinking of ancient times
has a social hierarchy, with the distinction between upper and lower.

(i) Varuna Hierarchy system is known as 'Chatur Varuna System' (Four Varuna System -
Antanara, Chatriya, Vaisya, Shudra).

A) (i) and (ii) are correct

B) (i) and (ii) are false

C) (i) True (ii) False

D) (i) False (ii) True

L edreupeueoTaummie &ifluimeor ellemL_wis CHTHOSHM.
160.2/600TL_LD 6T60TLIS BLN&E600TL_aUMMIGT 6TUMEMM 2 _6TeTL S5 WISI?
1. elevor L6 &) J6iTH6iT

II. e

III. G&HMET&H 6T

IV. aUmeiTQ 66

A) L II, III il @b

B) II, III, IV oL_(h\LD

C) L, 111, IV il (b

D) @ em6l 3|6060TH SN

Choose the correct answer from the following.

160. Universe includes which of the following?

[. Galaxies

II. Earth
III. Planets
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IV. air space

A) 1, II, IIT only

B) II, III, IV only

C) L, I1L, IV only (0)tnpscbooks

D) All of these

161. i )oeo0remlDd  &HMevmGefled efleusFmuwiid FTibhs  CeuemevalmUllIL|&HemerTL]
QLIHE G USH60T eLNeVLINTEH G S I MOLILM euMIenNem W L& &H LN U|LD 6T60TLIS! LITEU6VTS
JMHMI& Q& TeTemLILL_(H6TeTSl.

i) LD BITL1960 GeuemevalmUILIL] 2 MIHS S LEH 6V QFweLI(BWD WsUQuflw S LD
ID&THIT HTHH CHHFIW 2a17sH GauenevalTUILIL] @ MIGF &L LLD.

A) i) LML
B) ii) (D
C) i) haub i)

D) @Uevor(hLd S6u I

161. 1) In recent times it has been widely accepted that rural poverty can be eradicated by
increasing agricultural employment.

ii ) The Mahatma Gandhi National Rural Employment Guarantee Act is the largest scheme of
employment guarantee scheme in our country.

A) i) only

B) i) only

C) i)and ii)

D) Both are wrong

162.5mmi: SusHU @bHwmelley Geflfessmeln Geflymm smeorliLl (R 6U@HLLD
(WDpeUSILD Ermer QeuliLBlemevenls G\8smeoor(h6Temsi.

SIJeoTD:  QUILUGEH WNWeugild Blevald  &HTeBlensy &HLOVFTT UFHEHEHME
Q &Moot (H GITETS.

A) Famml Fifl, HTFeoTD S6um

B) Fa MM Heuml, &ryevord &ifl

C) oMM &Mevord @uevor(d &Fifl mmid siflwmet elleng s

D) SaMmI &Tyevord @ Jevor(hild &Fifl, aLeormev Fifluimeot ellems&LInevey

162. Assertion: Peninsular India has mild winters and a uniform temperature throughout the
year.

Reason: The prevailing climate throughout the region is maritime dominated.

A) The statement is true, the reason is false

B) The statement is false, the reason is correct
C) The statement is both correct and correct explanation
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D) Statement Reason is both correct, but neither explanation is correct

163.5aMM 1: HLVSGETIOT HEHEL6TEND SITFeoTONS WGHW WMHMID Ll @hHw
LGH &6 GeuliLiplemeuuiley LIHeussmey LnmmiUm(hEsemers Q& meoor(h6iTemeoT.

Fadml 2: all @BHWL LUGH&efe CameanLuiey G0 Qealliuwpd Wwmmih GerflF
&HMTVSH L &G GeflLld BlevaRmsl.

A) gahl 1 &fl, Fadml 2 Heuml

B) &Ml 1 61D, Sammi 2 &l

C) 8ol 1, G @ 2 @retorGld &if]

D) 8ol 1, FaMl 2 @Ieor(HD Heuml

163.Statement 1: Central and North Indian regions have seasonal variations in temperature
due to non-dominance of oceans.

Statement 2: North Indian regions experience extreme heat in summer and extreme cold in
winter.

A) Statement 1 is true and statement 2 is false

B) Statement 1 is false, statement 2 is true

C) Both statement 1 and statement 2 are correct
D) Both statement 1 and statement 2 are false

164.Quwmens  leusmwusemns  2amHGal&Es  QmamLe) GeueT  HLS0S
M WSILUGSH W LOTHleVLD 6T5I?

A) QIFTID B) @um&FsFe LNIFCH&FLD

C) S|mevorT&EF6eL LNTCH &0 D) JIT26MV & meoT

164.Which state has introduced 'Mobile Van Scheme' to promote organic farming?
A) Assam B) Himachal Pradesh

C) Arunachal Pradesh D) Rajasthan tnps chooks

165.8amm 1 2 Hemgeoilev CUMfledT SMIeooTomg FaqumelmE a&Hrms GrmLLIw
@Ml eNGISg6TeT SHOLEHEHES gL, CUTLbHS DTS Taquw LGey
QEWWUIULL Uwell&seT &MF&HEHIL  BILIQMHGSGET Hepalsme S6rmUllul
@eTMIWLSH 60T (EU) SemnLenll VLB SSHES QSTLBIS U 6Tengl. 60aGaieofluwm,

VMLelWm mmID eTeVGLmeollWm Huwlemel Jaquwl 2 fling H&H\&emeTd: Q& TeoorL
QUMGHETHIGEHEHG @CHEUMTETM Sl SLeLBSHW Fnls ChrrsHCuCW @S
BLOUIG &GS T(H&HELILIL(HETeTS!.

FaDm 2 2 Hengeoiley Faqwimelledr BHLOUSHNSESH6T IMMID FIauCsHs LMSIGTLLSG
DB SFHFMGHL GMISS RCrTUW earmlwGHer bleneoliumlienL @bg Y6y
e uede&smma.
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A) Gamm 1 DG Fifl

B) Famml 2 0L (LD &Fifl

C) &l 1 LMHMILD 2 Feuml

D) S|emerg Sl &ifl

165. Statement 1 : In line with EU sanctions against Russia due to the war in Ukraine, Poland
has begun enforcing the European Union's (EU) ban on all

Russian-registered passenger cars entering the country. The move comes shortly after
Lithuania, Latvia and Estonia implemented similar bans on vehicles with Russian license
plates.

Statement 2 : The decision reflects the EU's position on Russia's actions in Ukraine and its
threat to international security.

A) Only statement 1 is correct

B) Only statement 2 is correct

C) Statement 1 and 2 are false

D) All are correct

166.Gyamm ST’ WMHMID  ‘Faumsd & uUsmy’ wwWmH&H&EemeT 6bHs  LMbleuld
QSTLBIGUWG?

A) G&iyerm B) Q05

C) G&ImeulT D) Q&

166.Which state started the 'Graha Aadhaar' and 'Sawad e Bazar' initiatives?
A) Kerala B) Gujarat

C) Goa D) Odisha tnpscbooks

167 .60 & 85600T LM MIET LD6voTeoor If 11L& MedT S ITI600T IS EH6V QUIMTIBHESTHS! 6T
A) 918 Gausnns afsld &THM  B) QU@ QeU6TeTLd

C) Blevg&ifley D) LDILD 6U6TT& &6V
167.Which of the following is not true of the causes of soil erosion?
A) High velocity wind B) Great Flood

C) Landslide D) Tree growing

168.QUMIHSSIS: (LD6VIl60T LIMEs Mg 6T)

A) D&HTHSSHSTET QUL L LD — 1. &) 60T60)L_60T

B) @605 GULL LD — 2. 6T&60)6M60T

C) &196oTLnmeoT GleueflLenmM(IDSHTHSHHEMET) — 3. 24,6007 @ 60T IQLIHSHE LGS
D) Q66 2_6TEHenm (D& THSHSHHT6T) — 4. QLI @6TLQLHES LGS
A)1234 B)2 134

C)3421 D)3124
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168. Match: (parts of flower)

A) Pollen circle — 1. Intine

B) gynocieum - 2. Exine

C) Hard coat (pollen) — 3. Male reproductive region
D) Anthers — 4. Female reproductive tract
A)1234 B)2134

C)3421 D)3124

169. LUMI&8:86019 U] 3|600TL_LD 6TelaU6Te) 661 WIMTeooT(h&H6IT {66 @ & Meoor L2
A) 90 LNevedlwiest sperfl oy 600T(h & 6T

B) 93 LYevedluledr sperfl o 600m(h) & 6T

C) 96 LNevedlwiest sperfl oy 600T(h) & 6T

D) 99 LY6vedlwiedr eperfl oy 600m(H) & 6T

169. How many light years is the visible universe?

A) 90 billion light years

B) 93 billion light years

C) 96 billion light years
D) 99 billion light years

170.07QUITH6T STilemnulmd: s LiweTU(O WD 9dlevld ?

A) FILfls gjdlevin B) &MFLMet1& Llleuld
C) LmyLmiflé »judlevln D) 9,565M608 dlevld
170. What acid is used to clean wood?

A) Citric acid B) Carbonic acid

C) Tartaric acid D) Oxalic acid

171.8amm (i): @eTLUQUMmSESID Bleswh smewnmerg 2 ulflasdme 2 ulliflerd
LTOILGS DS

Famml (ii): Umedlevm QeTLRUMHSHSHSHH 6T eLOEILD 46007 LOMMILD GILIGTOT &)60TEF Q&F6V& 6T
@emeoorbE LGw 2 uilifleord CHmeoTMIHMS.

A) Fapol i &, Famol i Heum

B) Fa MMl i HOUMI, SaMmI ii &Fif] @

C) Fam Ml i, ii @Tevor(HLD &if]

D) &aMml i, ii @resor(Hid &eumi

171. Assertion (i): The period during which reproduction takes place varies from species to
species.

Assertion (ii): Male and female gametes combine to form a new organism through polyploid
reproduction.

A) Statement i is true and statement ii is false
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B) Statement i is false, statement ii is correct

C) Both statement i and ii are correct

D) Both statement i and ii are false

172.BLO& MDD FaMmIGefley 6Tgl &iflumeTsi?

I. givdlentlll gsomisasefley @b CeuHlulluley FHIUITS 6TerflemLDulmesT GILITIHL & 6m 6T
QLM (LPLQWITSI.

II. giavbleofll 9emigsefley @hg svidlefwbD sEmE®, adleoflwin enmbLl Gl
LMmoID sevidleflwn FeuCLL CUMETM HFlEHevTer Gl QUTHL.G6M6T 2 (HeUTHS
LG ULD.

A) I D@L &ifl

B) II nL_(h\b &ifl

C) @petor\d &ifl

D) @puesor(hilh Geumi

172.Which of the following statements is correct?

[. Chemically simple substances cannot be derived from aluminum atoms.

II. Complex chemicals such as aluminum oxide, aluminum nitrate, and aluminum sulfate can
be formed from aluminum atoms.

A) Only I is correct

B) Only II is correct

C) Both are correct

D) Both are wrong

173. BLO&HTEDID FaMMIG6fleV 61gl &iflumeTsi?

I. (I S60TIDD VeVl R CEFTGH 6T LIGFF NI SIG6T LNEVEFa M LG LD.
II. eLNEVE: S0 M) 6T6OTLISI H6vll8 & &mevorLIL(ID.

A) I bl (b &ifl

B) II (b &ifl

C) @nesor(d &ifl

D) @renor(hiLd &eum

173. Which of the following statements is correct?

[. A molecule is the smallest particle of an element or a compound.

II. Molecules are isolated.
A) Only I is correct

B) Only II is correct (0)tnpschooks

C) Both are correct
D) Both are wrong
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174.@BHWmelletr (NSH6V QFWMHen&aHCETET 6TSHI?

A) spflwaucem B) G &) evol]
C) LUMenV& I D) opL1L9eT
174. Which was India's first satellite?
A) Aryapatta B) Rohini

C) Bhaskara D) Apple

175.mTFGLOMTEIT 6T60TeRIN Q&ML HLp&H8600TL 6TIDQWTNFQFMeLedlefl((hIhE 2 (HeUTeTS.
A) @655 6o B) euLImenfley

C) BC& 5D D) NQrEhar

175. The word hormone is derived from the following word.
A) Latin B) Spanish

C) Greek D) French

176. 31,29,24,22 17, ... @b&5S QSTLHIL AH\&HS 6T600T 6T60TLIENSH S 85T600TS.
A) 12 B) 13

C)14 D) 15

176. Find that 31, 29, 24, 22, 17, ... is the next number in the series.

A) 12 B) 13
C) 14 D) 15

177. BAMH&T ABCD @6V, £C = 72° ommiLh «D = 80°. £A wmaild «B @er @@wUlfleyser O
LieTerflullev &G &G 6oTmer. LAOB @)60T 3|6T6Y 6TE0T60T?

A) 70° B) 74°

C) 76° D) 78°

177. In quadrilateral ABCD, £C = 72° and «D = 80°. The bisectors of ZA and «B meet at point
O. What is the measure of ZAOB?

A) 70° B) 74°

C) 76° D) 78°

178. 201, 202, 204, 207, ... QS S
Q&TLIflev au@BLd (H&S 61600

A) 208 B) 205

C) 211 D) 210
178. 201, 202, 204, 207, ... this
The next number in the series

A) 208 B) 205

0211 D) 210 (0)inpscbooks
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179.10(W 55616V * eTedTm FHMILILF QFUWedl a*b=a+b - 1 66T eUeOFWMNGEHLILGSH S
6T60T16L &FLn6of]l @ mILIL|

A) O B) 1

C)a D) b

179. A binomial function * on integers is defined as a * b =a + b - 1 if the equation

A)O B) 1

C)a D)b

180. 14, 28, 20, 40, 32, 64, ... @QbHS5S QSTLIIL AHSES 6THS 6T6voT U Geuevor(H)LD?
A) 56 B) 52

C) 128 D) 96

180. 14, 28, 20, 40, 32, 64, ... Which number should come next in this series?

A) 56 B) 52

C) 128 D) 96

181. 62(1H (NGB & MTE00TE B 60T CBMEUOTRIGET 1 : 2 : 6 6T60TM PG HH 6V 2_6Tengl. LOl&E T Ml
@& T6OOTLD 6T6OT6OT ?

A) 40 19&Hif] B) 45 19 &if]

C) 30 19 &\l D) 20 195\ f]

181. The angles of a triangle are in the ratio 1 : 2 : 6. What is the smallest angle?
A) 40 degrees B) 45 degrees

C) 30 degrees D) 20 degrees

182. A LoMmmID B eT6dTm @) J600T(h) SL_LEFF QFUILIGUTE6T 2_6TeTeor). 62(H LDHUILD, S|eUTE6IT
RGIGAMTHAMSHGID FHLLFHF QFUIW 80 LUSHSHMEHET QHTHEHHLILILLET. |6UJEH6T
Geauemevemwl FLomsLl LNiflG&er, Quermev A &@& 40 BILBIGEHEHE (DTS TH B
WISSTT, ST ASMES 4 6ol ICHID T(B\SHSTT. DMIBTET WHUILD, S LF&H QW
evoT(HILD 121 LISH&HMIGET Q&MHI&SLILLLeT. @@L, @hs Wwenm CF CHIsHH 6V
SLLEFF QFWUD Gauemeuenll (PIQ&HEH (N6 QFUISETT. A 6TeU6I6T6)| LI MHISH 66T
SLLFSHF QFuwuwl Geuevor(hLn?

A) 50 L& S MmIG6T

B) 77 L& &MI&6T

C) 60 LI&&MIG 6T

D) 55 LI&&HMmIGH6T

182. There are two typists A and B. In one afternoon, they were each given 80 pages to type.
They divided the work equally, but B finished 40 minutes before A, who took 4 hours for it.

The next afternoon, another 121 pages were given to type. However, this time they decided to
complete the typing work at the same time. How many pages should A type?
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A) 50 pages
B) 77 pages
C) 60 pages

D) 55 pages tnpscbooks

183. @ b5 5 Comeneuulledr LOGILIL| 6T6oT60T?

(tanO° tan1® tan2° tan3° tan4° ...... tan89°)
A) 1 B) 1/2

C)O0 D) 2

183. What is the value of this Coimbatore?
(tanO° tan1® tan2° tan3° tan4° ...... tan89°)
A1 B) 1/2

C)O D) 2

184. ep(h CLIL6rVGBL06IT 156181 @) 6tTenlImIerdlev 97 JeiT&6T T(HSH M6V eUTSH FFTFHl 5 96
AF&FEH M. 15-6u8 @ el esGL LIME& aurs Frmneflenuld &eoor miwe]|Ld.
A) 15 B) 82

C) 27 D) 92

184. If a batsman scores 97 runs in 15th innings his average increases by 5. Find his average
after 15th innings.

A) 15 B) 82

C) 27 D) 92

185. @@ GCUmbBS P BleovewwsEHONBHE Q BlmewwsHMEG wWwewllesE 70 SIS
CaussHIN, Q BlamevwsH O mHES P BlanewwsHMES eooflsHE& 90 HS CoausksHain
LIW6ool | &&HMSI. (W LIuleoorsHleor GLIMS CLIBHH 6T &FTaFif] GeussLd 6T60r6or?

A) 75.78 G5/ 06vof]

B) 78.75 G5/ 06vof]

C) 80.25 &S/ Lneovof]

D) 82.35 &L/ n6vof]

185. A bus travels from station P to station Q at a speed of 70 kmph and from station Q to
station P at a speed of 90 kmph. What is the average speed of the bus during the entire journey?
A) 75.78 km/hr
B) 78.75 km/hr
C) 80.25 km/hr
D) 82.35 km/hr

186. 62(H BHIMIAIOTSH6V M SIMMEET 2 6TaTeoT. QHTHHSLILLL LML alemILILLD

2015 WMHMID 2018 b eooT(HSH6Tl6L RaAIQaITH Slemmuiain 2 eTterm 26mdulFaserfleor
6T600T6001 | 6 SHemWLIS HTLHSBMEI. Blmialerind 80 W oarflulfsenerd CFISHSHS!
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LMmmILD Flev gerflFedemner 2015 WMHMID 2018 && QemLuilev LeollB& &0 QFUISI6Tensl.
el B0 QEWWLILLL emerd s 2amblfsebld C slemmenwls CoFibh&HeUser. C
SlemnMWIledT LieoollWmemTFaeT Lot B QEFWWLILLTINN QMBS GHHSTEV, 2018 b
2160071960 C SlemmuiedrT LIooflUITeIT[) 6T600T60011&H 608 _ 85 AH&FSH (G LD.

A) 12.5%

B) 20%

C) 17.5%

D) 10%

186. A company has six departments. The given bar graph shows the number of employees in
each sector in 2015 and 2018. The company added 80 new employees and laid off some
employees between 2015 and 2018. All the retrenched employees belong to C department. If
the employees of Department C had not been retrenched, the number of employees in
Department C would have increased by __ in 2018.

A) 12.5%

B) 20%

C) 17.5%

D) 10%

187. 350 9Vevgl SMEG GCLMULL WWHLIQUEITSET QUMM  LOMevoTed s erfleor
eTeooTe00N G em&GemW il 200 (P&H6V 300 LHLIGLIEIOTSET QUMM  LOMevoTeUJ8serfleor
6T600T6001 1 G605 6T HM60T F&6iE5ID FH&HLID?

A) 55% B) 25%

C) 30% D) 40%

187. The number of students who scored 200 to 300 is by what percent more than the number
of students who scored 350 or more?

A) 55%

B) 25%

C) 30%

D) 40%

188. etTeu(pld LILemL auemILILSMGLI L&, LNeTeu@ld CaHetalls@ LiGevefleasaln.
Q&ETHHELLULL &TusHMmaemear Frnsfleonw el a6 5emem 3L,60oT(h 56Tl gmmInG)
SAH &S QOBHSSI?

5 s (0)npschooks
C) 6
D) 4

188. Read the following bar graph and answer the following question.
In how many years were the exports higher than the average for the given period?
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A) 3
B) 5
C) 6
D) 4

189. 2014 LoMMILD 2017 LD 2,600 (H & 66T QLTSS FmH MG UN6r S S 2015 WHMILD
2018 b evoT(h &H6Ml6edT QTEHS @ME GG ulletr NS GLD 6T60T60T?

A)6:7

B)3:2

C)5:6

D) 14 : 15

189. What is the ratio of total exports of 2014 and 2017 to total imports of 2015 and 2018?
A)6:7

B)3:2

C)5:6

D) 14 : 15

190. Pev sryaysefler Fomsfl LOHMID WHH wWemmECW 4 & 10 ereflev, o &6or
@) 60 L_[BlemeVEm LIS &IT600T:?

A) 1.5

B) 5.3

C) 16

D) 6

190. If the mean and peak of some data are 4 & 10 respectively, find its median?
A) 1.5

B) 5.3

C) 16

D) 6

191.3x2 + ax + 4 QLE0TH X — 5 L6V (LNWDEMLOWITS UG LIBLDITEOTITEV, a @)60T LOGHLIL| 6T60T6oT?
A) -12

B) -5

C)-15.8

D) -15.6

191.If 3x2 + ax + 4 is exactly divisible by x — 5, what is the value of a?

A) -12

B) -5

C)-15.8

D) -15.6
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192. 0,1,2,3__ 9 @6 L eflevsaid K ereoflev, 10, 11,12, 13 _ 19 @ 6T HLL efleus &1
6T6OT6OT ?

A)K+1

B) K

C)K+4

D)K+ 8

192. If the plan deviation of O, 1, 2, 3 _ 9 is K, what is the plan deviation of 10, 11, 12, 13 __
19?

A)K+1

B) K

CK+4 (G)tnpschooks
D)K+8

193. 5, 6, 7, 8, 9 eI QHTLIULMNM @ VEHMBIGTINMmMBS THHMT 3 @VESH
62MEMMLILIGML 6T600T&HEM6T 2 (HEUTEHSH (LG U|LD ?

A) 55

B) 75

C) 70

D) 85

193. How many 3-digit odd numbers can be formed from the consecutive digits 5, 6, 7, 8, 9 ?
A) 55

B) 75

C) 70

D) 85

194.emuEHR6T llemey eh. HLBS Leoor( 75000. @bHEH oot ellemev 20 FHeisld
DS Sl6Tensl. @ HS 3,600T(H 6MLIGH 60T 61606V 6TEOT60T?

A) €eH.50000 B) ¢5.60000

C) e/.80000 D) €.90000

194. The price of the bike is Rs. 75000 last year. This year the price has increased by 20
percent. What is the price of the bike this year?

A) Rs.50000

B) Rs.60000

C) Rs.80000

D) Rs.90000

195.2@ GUTHEHHESG eH. 5000 Lermel aM&LUILLLE eh. 4500. Swmiliiiev
QULPMIGLILBID % SHETEBLIL 6T60T60T?
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A) 5

B) 10

C) 15

D) 20

195. Per item Rs. 5000 but sold for Rs. 4500. What is the % discount offered on the product?
A) 5

B) 10

C) 15

D) 20

196.5 emLulledr LILIQUI6V aflemev em. 2500. QUTHEHEHEG 30% SHeTEHLIL 2 6vor(h).
FLEOL &G 6T60T60T H6TEHLIL ULPMBISLILGSMmSEI?
A) €.1750

B) 4500 (0)npschooks

C) €p.1500

D) em.750

196. The list price of the shirt is Rs. 2500. The item is 30% off. What discount is given on the
shirt?

A) Rs.1750

B) Rs.4500

C) Rs.1500

D) Rs.750

197.@uevor(h  LomeooTelF&eT  GxUelley &HeubE Q&SHMeooTLeoT). eUF&Herfley  e(peur
LMmeueny el 9 G IGLIETITSHET HFH SN QUMMIGTETTH, SjeUHemnLl G LIQ LI6oTS 6T
Slaursefler WG LIS e al HH0HTMHUIN 56% G, JeUTSHeT QUMM
L&) LI G LI600T S 61T

A) 39, 30

B) 41, 32

C) 42, 33

D) 43, 34

197. Two students appeared in the exam. One of them has scored 9 marks more than the other
and his marks are 56% of the sum of their marks. Marks obtained by them:

A) 39, 30

B) 41, 32

C) 42, 33

D) 43, 34
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198.40% @Gwelery CxHbBemny e UMeTONS lBLUSMTISHET. GWelleh leanwl b
LimeorLomss el Leursertlesr ell&lgLn eTeoT6or?

A) 3/7

B)2/5

C)2/10

D) 4/3

198 .40% group prefers tea as a beverage. What proportion of the group prefers tea as a drink?
A)3/7

B)2/5

C)2/10

D) 4/3

199. QUWear &H5CFFlE&EsTer 19GEQ&HEL(H&GmeT ehH. 3500. alf Seumenm 15%
SeTerLIQUIev aM& eNBULSMITYT. €h. &HeTEHLIL. 6T60T60T?

A) €/.1525

B) €1p.350

C) e.525

D) e/.1050

199. Jain concert tickets for Rs. 3500. He wants to sell them at 15% discount. Rs. What is the
discount?

A) Rs.1525

B) Rs.350

C) Rs.525

D) Rs.1050

200. 1 &6V 70 eueTUIleVTeoT 6T600TS6ITl6V 6THHEMET FHIHID VG @VESHST6V 1
I6V6VSI 9 2_6TETSHI?

A) 1
B) 14 (0)inpscbooks
D) 21

200. What percent of the numbers from 1 to 70 have 1 or 9 in the units digit?
A) 1 B) 14
C) 20 D) 21
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